QUESTION BANK
GEOGRAPHY

UNIT-II
P 7—pIVY (Assertion-Reason) (01 Mark)

Answer Options (3w fa&eq( (for all questions)
(A) Both A and R are true, and R is the correct explanation of A.

A 3R AT TEYE, 3R R, A T TE SATEAT R |
(B) Both A and R are true, but R is not the correct explanation of A.
A 3R R 21T T E, ARt R, A T TEY AT FET F
(C) A istrue, but R is false.
ATET g, elfehel R ITT &1
(D) A is false, but R is true.
AT g, ifhel R TR &

QUESTIONS-

1. Assertion (A): Countries with higher population densities often face resource scarcity.
Reason (R): Population growth always leads to a decline in food production.

FYA (A): 3TT STTHEAT Uelcd aTel 20T Pl JFA TATUAT T AT T TTHAT HeAT
REGIY
FROT (R): STAHEAT I A/ WEH 3cdiesd H FRIae ol gl

2. Assertion (A): Human development is measured using indicators like education,

income, and health.
Reason (R): Only per capita income determines the level of human development.

FYA (A): AT fhra Fr A&, 317 3R T S Aeohdehl & ATIT ST g
HROT (R): Fad Ifad afFd 37 & A9 e & TR & [FURa a=dr 81

3. Assertion (A): In developed countries, birth rates are generally lower.
Reason (R): Better healthcare and family planning reduce fertility rates in developed nations.

FYT (A): AFAT AT F o T AR W FHF 8T gl
FROT (R): g TR ¢@HATA 3R IRAR el [asfad gef # goiete &3 &l
HH F od Bl

4. Assertion (A): The dependency ratio is high in countries with a young population.

1|Page



Reason (R): A higher proportion of children in a population increases economic productivity.
FYA (A): JaT HTEIET aTel ST H INTAS 3791 3T e g
$ROT (R): ol Soaear & sear $r 31 gear 3nfds scueewar & serdr gl

5. Assertion (A): Migration significantly affects population distribution in a region.
Reason (R): Migration only occurs from rural to urban areas in search of jobs.

FYT (A): JaTH HET &1 A FAEEAT [AR0T &l Agcaqul §9 § FoTAT I &
FROT (R): AT hdel USRI dolTel 7 JTHOT T AL &1 Fr 3R giar &l

6. Assertion (A): High infant mortality rates indicate poor healthcare facilities in a
region.
Reason (R): Infant mortality rate is influenced by factors such as nutrition, sanitation, and
maternal health.

FYA (A): 39 Y A X el &7 A @S Tareed Jarsit & g g
$ROT (R): Y FF eI N0, Faoadl 3R A TEET S FRAT A FHTAT grelt
gl

7. Assertion (A): Population growth rate has declined in many countries.
Reason (R): Urbanization and economic development often lead to lower birth rates.

FYA (A): 5 AT F FAHEAT Fef&T & # FRrae s gl
HROT (R): Ae0T 3R 3T [T 3@ FeH7 T F1 »F 1 S B

8. Assertion (A): Countries with high life expectancy generally have better living

conditions.

Reason (R): Higher life expectancy indicates improved medical facilities, nutrition, and
hygiene.

FYT (A): 3TT ST TTRT arel &2 & MHIN W dgR g afaar g &

FROT (R): 3T SildeT Jcamem SecX Rfshcar giawmsit, Aivor ik Eaeodr @i g
gl

9. Assertion (A): The population of the world is unevenly distributed.
Reason (R): Geographic and climatic factors influence where people live.

FYT (A): [ag Fr FTaEEIT 3TAT T F fGaRkd g
FROT (R): #fanfoeh 3N STefarg wRe I FUTRT ¥ & o @ wvgl Hara |
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10. Assertion (A): The human development index (HDI) helps compare development
levels among countries.
Reason (R): HDI is based only on economic growth and military strength.

HYT (A): AT AR Fashieh (HDI) AT & fashrd TRT Sl Jolell Al H A
T B
FROT (R): HDI sharel 31T Jefer 3R d=7 i WX MR g &

gglddbctid 7o (Multiple-choice Questions) (01 Mark)

. Which of the following regions is characterized by a high population density due to intensive
agriculture?
fArfaf@d & @ la-ar &7 g N & FROT 3T SAGCIT Geled d I 82
A. Amazon Basin / HﬁGIT-T s
B. Ganges Plain / 37917 &l Her
C. Sahara Desert / HalRT HLEUd]
D. Siberian Tundra / HSaRAS EET
2.
What is the primary reason for the sparse population in polar regions?
YA &t H STAEEdr favel gl @l HTT HROT F4T g2
A. Lack of mineral resources / @felol TATLAT ahl haT
B. Extreme cold climate / 37caT&ieh 38T STeldryg
C. Frequent natural disasters / SIR-dIT W kiler 1y
D. Political instability / TrsTeilfcieh LT
3.

Which demographic transition stage is characterized by high birth rates and declining death
rates, leading to rapid population growth?

PIA-AT SFAHTEIRT HhHUT TOT 3o Sfed X 3R " #cg H faAvar @ g,
o SaaEar dsit & dgdr g2

A. Stage [/ TXOT |

B. Stage 11 / TROT 1I
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C. Stage III / TROT 111
D. Stage IV / TROT IV

Which of the following factors is least likely to influence human development in a region?

fArafaf@a 7 & Fla-a1 FRF R &89 & Ag G & gafad s & gad
HH HHTGAT TWT 82

A. Educational attainment / f1&TT TR

B. Healthcare facilities / EATEZT ﬁ'ﬁﬂl’(’u

C. Climatic conditions / STeldTg gRfeafaar

D. Political governance / JTSTeilTdieh QAT

Which country has implemented a successful population control policy through the promotion
of small family norms?

fore 327 & B¢ IRAR & 3HTeRif T Torar qa Aol STaEdr @701 i #fey S
g2

A. India / AT

B. China / Tl

C. Nigeria / ATSSNRAT

D. Brazil / sTTSitel

In which continent is the population growth rate currently the highest?
fora AgIedT & TaA H FHAHEAT 9o &Y Fad JfEe g2
A. Europe / ?II‘:{TCT

B. Asia / TIRIT

C. Africa / 3TShTenT

D. South America / GT&aT0T 3ART

Which of the following is a consequence of negative population growth?

FAPRIcHS STAHEAT JET& T Hled-AT TRUTH g1 Hebell 82
A. Increased labor force / HfAH afdd & E(l-EﬁT

B. Aging population / & gl SeraEar

C. Higher birth rates / 3Td SleH &

D. Urban overcrowding / 283 318 STaa&am
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Which index is commonly used to measure human development by assessing life expectancy,
education, and per capita income?

hleT-HT FHehieh Siidel Fedmem, et 3R 9fd safed 3T &1 Hedihed i HAd
faerd &I A & fIT 3MAAGR O 39AReT faRar Srar g2

A. Gross Domestic Product (GDP) / Hehel tlj\oj\ 3c4re (GDP)

B. Human Development Index (HDI) / ATAd {dehre H@W (HDI)

C. Gini Coefficient / 5=l 90TIeh

D. Physical Quality of Life Index (PQLI) / #ifceh SiiaeT I[0Ta Farehish (PQLI)

Which of the following best explains the term "demographic dividend"?

"TATTTETRTI SITHTLT" QeE, l T 3TH g Pied THSATT &7

A. A rise in the birth rate / Sted &I & E(l-aj'%l'

B. A decrease in the death rate / 3[cg & H FaAT

C. Economic growth due to a larger working-age population / Hraefrer g gar &I 37
STAHEIT & SHROT 31 gefer

D. Increased government expenditure on healthcare / TaRLT ¢@HTT W PRI TT H
Jefa

C ~

10.
Which of the following is not a factor affecting population distribution?

Ao 7 & Fia-a1 Ja9€ar Ao o TH1fdd F arell RS T6l 87
A. Climate / Sfefdarg

B. Soil fertility / el 3aXcr

C. Ocean currents / HETHERIY ¢RI

D. Political stability / TsTeilcieh TE2RAT
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3l o7g S¥lg g7 (Very short answer questions (01 Mark)

—

faeg SeEar faeRor & fawAdr & W@ ST F47 87
Why is there an uneven distribution of the world population?

2. FT & H TAUEHN Uelcd IH{UH gl & SIdole TATAT HT STl H 41 gl
&7

Why do some regions have a high population density despite low resource availability?
3. 3MeUAHAT G H 3T SoH & & YHW hROT FIT g2
What is the primary reason for high birth rates in less developed countries?
4. leT-A1 &7 fag & HaIfteh SEEar Ueled arell § 3R ST oW HROT FT 87

Which region has the highest population density in the world, and what is the key reason
behind it?

5. a1 Sfeary aRTEAAAr Steraear faaRor & genfad wdr 87 3eeRor dfgd Tase
H|

Do climatic conditions affect population distribution? Explain with an example.

6. ThreT HiMioes FRST F FROT IEIRAT 3R 3T BT H FAGEIT FH 915 AT
&7

Which geographical factors lead to low population density in Siberia and the Amazon Basin?
7. SETEEAT GE & P-ET § TS M RE ST @ o &
What are the possible social and economic impacts of population growth?
8. faeraeler 3R Al det & ST=reear gefer ev & 3} &4t gidr &2
Why is there a difference in population growth rates between developing and developed
countries?

9. SIATEAT HhAU] ﬁ?{?ﬂ?f (Demographic Transition Theory) & HJAR hleT AT T
IRT & TAH STAEEAT TTRY HT Jiafafbcd aar g2

Which stage of the Demographic Transition Theory represents India's current population
pattern?

10. 5T YR Yardel (Migration) SITEEAT fATROT & gaNfad adr &2
How does migration affect population distribution?

11. ®TeId fard gaeieh (HDI) & dled Y@ €esh hid-aled I &2

What are the three major components of the Human Development Index (HDI)?
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12.

13.

14.

15.

16.

17.

18.

19.

20.

fehel SRepl & HROT &l GRAT HT AT IR bl FA Gt & STaolg IeTent

Why can two countries have the same HDI but different social conditions?

AT fdepra Faehier I 0T # 9id SAfFd 3T S ARSI A & AT fHa
afer 1 39gter fhar Srar 82

Which method is used to adjust per capita income in HDI calculations?
"3Td 3T fAhrd A 3T Al T T AR 6T HIcTl" $H YT H
gise fehdll 3emeor eanrt |

"High economic growth does not always ensure high human development." Justify this
statement with an example.

AT [ahE & TR GHE T Hid-aled I §?

What are the four main pillars of human development?

faeg & qad 31T AT a9 Gl aTeT G2 HIA-AT &, 3N $HS JHG HROT
T 87

Which country has the highest HDI, and what are the key reasons behind it?

hH A faprd arel G & AeRAT &¥ 3R SiaeT TR W &1 J1d Il §?
How do literacy rates and life expectancy get affected in low human development countries?
A AT g (GI) A1 § 3R I8 AT G @ F8 F@afd g2

What is the Gender Inequality Index (GII), and how is it related to human development?
QATaONT fEARAT T AT [Qhrd @ AT TaeT 22

What is the relationship between environmental sustainability and human development?

HRA & AT [ o A GUR & T TWHR Fld-led & 9317 HT W@ 82

What efforts is the Indian government making to improve the Human Development Index?
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org Farvig 97 (Short answer questions (02 Marks)

1. Why do some regions with abundant natural resources have a low population density? Explain
with examples.

$6 & # T Wihfde Gl & STasje SIAEEdT Helcd hH &1 gidl 87
3CTeX0T Higd FISC |

2. How does the physical environment affect the distribution of population across the world?
Explain with examples.

#Hifheh GATeRUT gfadr s’ & Serdear faaror &t &d genfad #Hydr g2 ereor
afgd #ase|
3. Despite technological advancements, why do some mountainous regions still have low
population density?

deheltehl aTfd & STacle $& T &l # SAaear geica 316l off s 41 &2
4. How has industrialization influenced the population distribution in developing countries?

egrefeor o fawraehier geif 7 Jaaear fAavor & 8 yafaa fear g2

5. Compare the population density of East Asia and North America. What factors contribute to
the difference?

gl Tl 3R 38 3ARET & FTAEET gelcd T JoIAr S| FH IR F HRON
&I TIST H|
6. How does climate play a crucial role in determining the population distribution of a region?
Explain with examples.

forely &t dhr Sieraear faavor & AR #et 7 Sterarg v Fa1 ifAr g2 3ereor
afgd gasmU|
7. How has urbanization led to uneven population distribution across the world?
EUIT o IR A 3TAT FTAGEAT [ARUT & FH e fear g2
8. How do government policies impact population growth in different countries? Give examples.
faffiest St A Soaear gefe W W Al F8 THE STelcll §? 38601 Afgd
AU |
9. How can the concept of carrying capacity help in understanding population distribution?
dgeT &THdT (Carrying Capacity) I 3TTURUT JTAGEAT fAROT &I FASTY H Hd
HETIe & Fhell 87
10. Why do some regions have negative population growth despite high birth rates?

S &1F A 3TT SeH X & FIdole APRIcHS SIAAEIT Jefd FaT gl §?
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11. Why is per capita income not a sufficient indicator of human development?
gfa afed 3 A9 [T 1 9Ica ohde FAT =T8T 87
12. How does gender inequality impact human development in developing nations?

Reraiier e & e AT AT Jrg #F H8 gafag Har &2

13. Why do some high-income countries have a lower Human Development Index (HDI) than
expected?

$S 3T Y dTel G T AlAd A Fahieh (HDI) 3UeT & HA F4T g &7
14. How does education contribute to the overall human development of a country?

fRAeT fordll 321 & |l AT fa A &4 Qerere S 87

15. How does the availability of healthcare facilities impact human development? Explain with

examples.
ALY G Y IUcTerdl Alld fdehrg H @ Fenfad el §? 3eeor afged
HS |

16. Why do countries with similar GDPs have different levels of human development?
AT ST arel &2if # AlAd [Ahrd & T HT-379T FAT gl 87
17. Explain how sustainable development is linked with human development.
Fad e AT e § &R ST g3 8
18. How does political stability contribute to higher human development?
Tt RRdr 3T Alg e & S deree & &
19. Why do some resource-rich countries still have a low HDI?
O HATET Heel G2 HT Held fashra Faerieh (HDI) HA FT grar 82
20. How does migration impact human development in both source and destination countries?

garad Ad 3R ITdeT St 82T H AT FHE Y FO AT AT 87

org Farvig J97 (Short answer questions (03 Marks)

1. g Soaear Adavor # J(vaar #af a5 ardr 82 dtenfos ik 3nfde sRot #
faeayor ffFT|

Why is there an uneven distribution of world population? Analyze the geographical and
economic factors.

2. TO &l A SHEE Helcd mwmamg@mmagam?ma
HgIdIal & 3ETE0T e HHSISU|

Why is population density high in some regions and very low in others? Explain with

examples from any two continents.
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10.

11.

Todl STAEEAT geft X faseeier gl & v fhg gehR & gATAT Scdeet T
Tehll g2 ofieT N3t & Tose fAfsw|

How can a high population growth rate create challenges for developing countries? Explain in
three points.

faea # Seraear gefer $r ygfaat 1 Uder@s fagaor fifew 3 a8 &9
ArATTS-31e fashred s gafad &ar g2

Analyze the historical trends of world population growth and explain how it impacts socio-
economic development.

SIHEAT ef @l AT we & fav e deif qanr svars o o sfifaat &
qoIelIcAs IETIA HITST

Compare any two population control policies adopted by different countries.

HRA 3R AT STTaear gefdy Afdat fr Jorer RS 3R gaaa gormal @
Hodiehal AT

Compare the population growth policies of India and China and evaluate their impact.

STTHEAT Holcd 3R TATYAT T 3TTedl H FIT TaY g2 fhdl T S &1 38T
S SITET ShITAT|

What is the relationship between population density and resource availability? Explain with an

example of any one country.
gie fREY Sor T Sied e 318 g1 olfehet g eX o 31+ g1, dl STaaear gefy
W SHAI FIT THG Y397

If a country has a high birth rate but also a high death rate, what will be its impact on
population growth?

AENFUT T FAGEIT Gelcd U FAT THTT UsdT 22 AR & Heal H Tar Afaw|

How does urbanization affect population density? Discuss with reference to India.

STerarg aRade SHEEAT faeRoT I fhd YehR THTAT Y Hehell g2 faRelwor
FIfaT|

How can climate change affect population distribution? Analyze.’

Wmﬁ?mma;aﬁﬂwm%?aﬁaﬁaﬁmmgc
HASATST|

What is the relationship between human development and economic development? Explain
with a comparison.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

AId fdehra Faehieh (HDI) fohel HET Tehclehl T MR gl §? Rl sl HDI
3 ST & Jelell H HaT 87

What are the key indicators of the Human Development Index (HDI)? How does India’s HDI
compare with other countries?

8T 3R TarEeg AT Ry S & AT QAT T FT gfad FTar §2 380
afgd sarear Hifau|

How do education and healthcare services affect human development in a country? Explain
with examples.

AT a1 A9 & AT shadal GDP 9ATcd &7 g1 g2 3a d& §faw|

Why is GDP alone not sufficient to measure human development? Give valid arguments.

JAffte 3gHEar fRET 2 & AT [AH 9T FAT YT ST ohdl 82 IR
e & Tar fifau]

How does gender inequality impact human development in a country? Discuss with reference
to India.

S 3T dlel 3R 3T A ared AT & Aldd TIhrE Hehelohl I Jolell HITAT HR
FHRON T faeevuT HifaT|

Compare the human development indicators of low-income and high-income countries and
analyze the reasons.

FT Al AT 3R T@dd [de@ (Sustainable Development) Teh W * FRE g2
3eTeXT Hied HASISU

Are human development and sustainable development complementary to each other? Explain
with examples.

THR T FeIUTRNT AT AT [T HF H8 gafad FdT 82 ¥Ra F ey
U siifd T 361807 SISy |

How do government welfare policies impact human development? Give an example from
India.

URA H 3G AT a1 &3 (Unequal Human Development) & &RUTT &l H\F?JIW
ST 3R gUR & 39T geAsv|

Evaluate the reasons for unequal human development in India and suggest measures for

improvement.

AT A RUE (Human Development Report) § #RT $r Tafa & qgur ot &
fore et 3mmaeges wEfaar gesv|

Suggest three key strategies to improve India's ranking in the Human Development Report.
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31 Sarvlg 97 (Long answer questions (05 Marks)

U TGOS FUA! R AU FrETed T T F T T F 99T F @ g
aaﬁwﬁwaﬁtm*ﬁmmaﬁtmﬁwﬁgcaaﬁmmw
T THA 82 30T Afgd TASSUI

A multinational company is selecting a location for a new office. What factors of population
distribution and density should they consider for choosing the right location? Explain with
examples.

Ife R 3R I F FTTEEAT G Y Jorar F 1€, @Y Al ot H stnfow
R wrfds ROt & I8 F BeeT gar &2 AGRT & oo F aH=AE

If we compare the population density of India and Japan, how does it differ due to geographical
and economic factors? Explain with reference to maps.

AT TH A ANTAFR § 3R 0F At Ta9Edn geica g AR F AT Qe
o @ ¥ el shews R g gRET # i @ gy w & @ R
aAifaat @t ey FE?

You are an urban planner designing a highly populated city. What policies would you
implement to tackle urban congestion and infrastructure shortages?

3T 3R TAT # FAEEAT gEfE e H WO F FAT FROT 82 3T FRAT &
drisifas wsmal &1 faeawor #i)

What are the reasons for the difference in population growth rates between Africa and Europe?
Analyze the long-term effects of these factors.

ART & TIHEAT Ueled AR WIFd T HANFT F TAGEAT °efed Y Jelall F
At et F serwear AT & fiee deot Y yanfda & are wog@ sRo @
YgaeT &I

Compare the population density of India and the United States. Identify key reasons affecting
different patterns of population distribution in both countries.

I v AU # ITv SAEEdr gef & @ Afva AT ypfas wwme &, swer
FfegaEyr 3N FHAST W FAT THIT I2911? 3SEI0T Aigd [Gavor Hi

If a country has a high population growth rate but limited natural resources, what will be its
impact on the economy and society? Analyze with examples.

FIT AT GEA & T dod) FTIHEAT Fad U AFNCHF FRF A8 8, afed I8
nfds e & deras ot @ Fahdl 82 39 d=f 1 3T eI F @Y ywqd

12| Page



10.

11.

12.

13.

14.

15.

£y
Do you agree that a growing population is not just a negative factor but can also contribute to
economic development? Justify your arguments with examples.

TWEHN A 39 FA6EAT g0 & § Avead & fov Fa-wla @ wehfaat sroemeh
qRT? AR AR e A AT F1 gaareAs AeaFT =

What strategies should governments adopt to manage high population growth rates? Evaluate
the policies of India and China comparatively.

¥ wF fifaera FRET AR F AN gl e A seEen gt B Baba wE@
# weraw @), 3 50 syaer A F{ W ST FFHar §?

Design a policy framework to control population growth in rural areas and explain how it can
be implemented effectively.

TF FleUlad ¥ F AT T SATHEAT TausT Arser RFRAa F¥ owd gaa Rew
3R SEEAT AITAT F AT A T@T IT4AT @

Develop a ‘Population Management Model’ for a hypothetical country that balances
sustainable development and population control.

TF U A AT e RO & @AeT gdsng (HD) &R 3T 81 SR 59
feufa # guret & v By &= & gurR w1 a5

A country's Human Development Report shows a low HDI score. In which key areas should
the government focus on improving the situation?

AT A ga&® (HDD) : ¥, Rew 3R Sas ¥R & fver AvEst & smur
YT ATYT ST 82 38 g darmal & fow et 1 Fla & guR F& aige?

On what parameters of health, education, and standard of living is the Human Development
Index (HDI) measured? What reforms should countries undertake to improve it?

AR AR A F AT @F™ gaFiE (HDD # 3av &1 faeawor w311 e ik
i+ SR F RTAR F AT

Analyze the difference in Human Development Index (HDI) between India and Norway.
Explain the social and economic reasons in detail.

FIT dad aﬁmqqﬁr (Economic Growth) frdY a1 # 3=a AG ﬁmgﬁfﬁr—r
FT HHhdl 82 39 3R & 3T a@t #R 3qE0n F o FUSe |

Can economic growth alone ensure high human development in a country? Explain your
answer with logical arguments and examples.

TF AT A AT FAAT (Gender Equality) AT @ Y & gsnfad w3 82
RAffieTr et F 3erEIo & a1y fAedvor #)
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How does gender equality impact human development in a society? Analyze with examples
from different countries.

16. WYF TS E@NT AT faF@ 1 AR & fAT 3930r fFo @ arer alat
ITAEeATcH® FHIRT FI| FAT TAAT TIASIATE (HDI) AlST F FUR AT AT FHl
&

Critically review the methods used by the United Nations to measure human development.
Does the current HDI model need improvement?

17. F1 1T AFS & fF aRa & Ren 3k sy w afas @ar A [
FAFTH B FFRICAF T § THIRAT 92 9 Tl B TIC

Do you believe that increased investment in education and health in India will positively
impact the Human Development Index? Justify your reasoning.

18. AT A+ # T & AT vF gaEd A vearda & S aefor ik awdh
&3t et F Ay A ST
Propose an inclusive policy to enhance human development that can be implemented in both
rural and urban areas.

19. 3R 9 T F fav Aa FFm gaas § FUR F& & el & 75 2
T -l W IEAAAT rg=TON?

You are given the responsibility to improve the Human Development Index of your state. What
strategies would you implement?

20. IfE MR TF AU F AT AT RAF AT FAT @, A e yHE &E W oeArT
& I9et Alser A A& RAAvard aasw)
If you were to design a human development model for a country, which key areas would you
focus on? Describe the main features of your model.

Case Study Based Questions

¥ Ted FAEEAT gef 3R AT Rew
In recent decades, the world has seen an unprecedented rise in population. Some countries, like
India and China, have experienced rapid population growth, while others, such as Japan and

Germany, are facing population decline. This demographic shift has significant implications for
economic development, resource distribution, and human well-being.

od F& Ul #, gAar o swHear # Haqd geftr adr &1 srd 3R D S =
H Ao & FA6EAT Jefd §5 &, Sfafch STl AR STAeA Sif & 1 Straear # fRmae
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T ATHAT FAT U2 @7 | I STIaEahd IRade e e, dareat & [axor
AR AT FHeAOT W HAgedqoT FeMd STeldl &

India, with a population density of over 400 people per square kilometer, is one of the most densely
populated countries in the world. In contrast, countries like Canada have a population density of
just 4 people per square kilometer. High population growth increases pressure on natural resources,
infrastructure, and employment opportunities, affecting key human development indicators such as
education, healthcare, and quality of life.

HRA # SEEAT elcd 400 ¥ 318 cafed 9fd aef fheeer &, fSo@ g8 gfaar &
Y Gl AEET Tl 62 # d U gl 39 AU, FAST o SAT H FAATEAT Gedcd
A 4 hidkd Ui @91 fahell el §1 30 SIHEAT deft iehfae HaTHE, g e
3R VSR & G R gard srelcr 8, [Sa@ fewm, Tareeg dar 3R Siider @ Ioran
S AT [ & YT Hehelhl 9 THIT ISl &

One of the key debates is whether high population growth is beneficial or detrimental to human
development. While a large population can provide a strong labor force and drive economic growth,
it can also strain resources and hinder sustainable development. Some countries have successfully
implemented policies to balance population growth and human development, whereas others still
struggle with overpopulation, poverty, and resource depletion.

Teh HEcaqUl §68 I ¢ foh AT 3o0 A6 I A [dhrd & v amereras grar
¢ T BliciehNeh| ST@T T3 STIHEAT Ush Holgqd HH AfFd Yald & Hehdl § 3 3mids
JEfT Y Ferar & Tha! ¢, 98 Ig HETUSA W A9 S TR § AR TAd R
AT #X Fhl ¢ O AT o FAEE Jefty AR A G & I Tl T &
forT aoer Sifaar oy #7 8, Stefe 3w 3l o Seraear gefe, Ie 3R FareEr @
FHI F S W@ ¢

Questions /
1. ¥R T 3T FAGETT Tadcd ST Hid-ar HTTIT THT JATUAT Sl @Id W IS ohdT

g7

(What is a possible impact of India's high population density on resource consumption?) (1 Mark /
3%)

2. AR 3R FaATST AT STAAEIT Teled T JolelT Y AR Ig W & T§ 379 i
fasra 1 &8 gerfad ST Hehl Bl

(Compare the population density of India and Canada and explain how it may affect their economic
development.) (1 Mark / 3/&)
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3. 901 Y AT § foh 329 S Jeft A [ & v omsieras gl Hevcll g7
39T 3T T SITEAT |

(Do you believe high population growth can be beneficial for human development? Justify your
answer.) (1 Mark / 37/&)

4.7k U AT FT gEATT HT S TR o G A FATEAT FEfd B AT Xk FAd
AT fahrd GARET #X Tl

(Propose a policy that can help balance population growth and ensure sustainable human

development in any country.) (2 Marks / 3/)

7T T 997 (Map-Based Questions)

1. Identification of Places & Regions on the Map

1.

Identify the country with the highest population in the world on the world map.
feg aefey X faeg & waifts sewew a@ 3o # ggaE|

Mark the continent with the lowest population density.

A% W 30 AFIEdIT # RAfeea w Fwdhr seraear aoiea aed F4 ¢
Locate the country with the highest urban population in the world.

feg & waifte agdt Swaear ae qor # AR W gAiv)

Identify any two countries that experience high rural-to-urban migration.

AR 9T 39 & 2 F RfFga 1 81 aEor I agdl 8= & 3=w yawa
giar 2

Mark two major megalopolis regions of the world.

faeg & Y yH@ FeEI &1 F AR W RAfesa

2. Population & Settlements

6.

Locate any two countries with negative population growth.

AR W & W AT T AW FET FTHEAT G AFRCHAF ¢
Mark the top five most populous countries in the world.

faeg & uig @aifds saedr e e & AFRT W RfE@mw|
Identify the country with the lowest birth rate in the world.

feg & F9W FH SIoH T I U FT AGRT W @I

Locate two regions where the population is concentrated near rivers.

AFY G Y 0¥ & AT Bl FTAWEAT Al & I o gl
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10. Mark two sparsely populated areas in the world.

AT W & 3T ITHEAT Udcd dre &7 & ”feea 3

3. Migration & Demographic Change

11. Identify two major international migration corridors on the world map.
farg A= W a W@ HaWSET A ARt # g
12. Mark a country experiencing significant brain drain.
G T F RAfFed F 8T ¥ 3= RNfAT o 9 ¥ & I 1 @ &
13. Locate a country with the highest number of refugees.
e 3% rondf are qor A AR 9T AT
14. Mark the major source regions of labor migration to the Gulf countries.
Te® g A AfAF v F yHw W &3 F# AT ) RE
15. Identify two major destination countries for Indian migrants.

R gariaal & fT &) 99q@ aded qul F1 AR W v

4. Economic & Social Geography
16. Mark the country with the highest HDI (Human Development Index) score.

A RF guaes J gafed T @ 3T F AGRT | @]
17. Locate two countries with the lowest literacy rates.
~gATH HIERAT &T g ar Ao $ AT W gl
18. Locate two major industrial regions in the world map.
e & ar wogw siefs &t ) awfas w Rffsa #:
19. Mark two major agricultural belts in the world map.
faeg & o yiw R & F Ay w RAfega
20. Identify the top two oil-producing countries on the world map.

feg & QY MY a 3cures ot F AT W RAfegT F
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